O33%2%

Install Guide

Stud, Wheel, Bullet

Nose, M14x1.5

Bullet Nose Wheel Stud Kit

03 <4 E553%

034Motorsport's new black zinc coated wheel stud kits are
made of Grade 10.9 Chromoly Steel and the bullet nose
feature allows for quick, self-aligning wheel installation.
Designed with large shoulders to provide extra strength and
to properly fit VAG brake rotor hats. These will work with
wheel spacers up to 10mm thick.

Installation Spiciness Rating: MILD

Installation of your 034Motorsport Bullet Nose Wheel Stud
Kit is a straightforward process that will take approximately 1
hour to complete.

Supplied Parts:
e (1x) 034Motorsport Bullet Nose Wheel Stud Kit

Tools Needed:
e (2x) 19mm Wrenches

Supplies Recommended:
e Blue Loc-Tite

Getting Started
Confirm you have received all the parts included with your
purchase by reading the complete guide, if there are missing
components, please contact:
customerservice@034motorsport.com

About This Guide
This Install Guide documents the installation process on an
8Y Audi S3. There may be minor differences depending on
specific vehicle, market, options, etc.

www.034motorsport.com 1


https://store.034motorsport.com/bullet-nose-stud-kit-pack-of-5-or-20.html
mailto:customerservice@034motorsport.com

NOIT O . Stud, Wheel, Bullet
D3 Y5557 Install Guide Nose, M14x1.5

Install Steps Step 3 (Optional)
Step 1 Apply a small drop of blue Loc-tite to the threads.

Lift he car.

R

Step 2

Remove the wheaels.

=

www.034motorsport.com 2



Stud, Wheel, Bullet
Nose, M14x1.5

Install Guide

Step 5 Step 7
onto the wheel stud. Use (2x) 19mm wrenches to lock the lug nuts in place.

7

%

: \
‘L ‘5:"/ \
p, A

Step 6

Thread a second nut onto the stud.
, T o outermost lug nut.

Step 8
Using a 19mm wrench, tighten the whole assembly from the

a Q A ?

www.034motorsport.com 3



O3F%32%

Step 9

Use (2x) 19mm wrenches to break the lug nuts apart.

i

Step 10

Remove the lug nuts.

Install Guide

www.034motorsport.com

Stud, Wheel, Bullet
Nose, M14x1.5

Step 11

Repeat the process until all studs have been installed.

Step 12
Put the wheels back on.

e

Step 13

Install the lug nuts and you are done!




